INTEGRATION OF s#'x AND cos’x

1 Find: (a) IZcoszxdx (b) IZsinz.td.x (c) fsinJ%dx
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INTEGRATION OF si7'x AND cosx

1 Find: (d) I 2c0s"§dx (e) I sin” 3xdx (f Icoszalxdx
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INTEGRATION OF si#'x AND cos’x

2 Evaluate: (a) Io%ZSin’xdx (b) I:‘(-sinzxdx (c) chos:xdr
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INTEGRATION OF s#'x AND cosx

3 The region under the curve y = sin x between x = 0 and x = & is rotated about the x-axis. The volume of the

solid of revolution formed is given by:
A rsin:xdx B Ir_rsin\'d.x Jrrsinznbr D Jtrsinxlxt\“ }/\
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4 The region under the curve y = cosx between x = E and x = % is mtated about the x-axis. Find the volume of
the solid of revolution formed.

Nob . e cue s above Ro x-oxia befwean. =Ty ard X =T/} 4o
' lon i R aige of B Blgels
3

N NO r Tr/
Ths volwe in guen byVs] T anx da
T s
V—TI" T A I =2entx —|
3 2 mix = [+ ¢ 2

" Section 4 - Page 4 of 6
L)




INTEGRATION OF siw'x AND cosx

9 The region bounded by the curves y = sin 3x, the x-axis and the ordinate x = l—’g— is rotated about the x-axis.
Calculate the exact value of the volume of the solid of revolution formed. %
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INTEGRATION OF st7'x AND cosx

10 The region bounded by the curves y =sinx, y = cosx and the x-axis between x=0and x =

the x-axis.
(@) Find the point of intersection of the two curves.
(b) Calculate the exact value of the volume of the solid of revolution formed.
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